ID ZtY 0| grg XY OoE W=
1 |=bdY:2011.12.15 0%
2 vV Y HS B
32011 A4 100% ZUR YN 2= (128 = TH| 52X SE2=K] o)
4 tHe| et 100% WEZFo 2= / X9 EESSE HIABR(SUIEHNT)
> 7ol XHEHE M A 9% XT MA 2tz
6 TCHTHA Qlgy Al 20% 12/23 () 11A| TR FA
U TOCEHY Aot 0% 213 (
8 TOEHY YA 25% 12/23 (g) @E2H|0|HE 35 2 (MU/AZM/A =R /2155 O/H])
9 0% A /A ZH@bout 2h/ 13:30-15:30)/H 2/ 4=8}/deco
10 | X9E HMEUE 0% QI QIAM /ST OIX| AAR/7H R 7| ER 2 HE S/
11 o4 100% eIl B i 1=
18 WA} MXICHE] 80%
1 g8 100% M= X[ =40l 2tz
20 | AYs =8 40% 15K M| [T A2lg E5 11LETHK| M F 24 N L)
21 | K& oot 100% ZHX[HTH DS A 0| 9F(12/13 0 F) 2=
22 BAFEX AT 2 75% 118 12 MAHo|z 1¥ 1¢7 = T
23 | oEZ2IOY ZE 100% FaX 2HZ Ol T 2E A2 T2/ | 2=
24 | " X3 100% Hizza3 S5t X e
25 | HVIER ES 100% Fi/2UEEH0| M2 BElj= A2 2 X[ =40l
26 | il 0% 125212 2)HA| BU4EHRGEHe 2 g (A=)
27 | ROofEAx 100% HH - 25 EHE SEE ART YSAR
30 HEA|o(2tel9]) 0% 18 7€ SM4E SHEs A 222 (12/26 LO|Lf)
31 QIQIAM EHd 100% AFAAM Zd (SA EHY J)
32 | HEUE Y 100% 7). 0l A, EXt 5 S5 2t
33 HSHwe 80% PPT 2 4S ¥
342011 SHgE7| ZHAL 0% AFAAIM ZAL & 20111 H ZHAL T aPE AX|OJH|(EH|ER)
35 | WE 0% YALE DM (2= Q1A M2t EAN) 2 EHE
6 Hjelase 0% SRH(1YE29Y)/E A/ S50t/ ode/Xt B
37 3H 0% HERZX| oz HASa=o FHSELS (ULTNX| LESY)
38 Bty 0% 12 16Y(RHHA| KT 2820tz / o), SY2 Y BT 2=
39 29399 0% 2R(1E13Y)
40 | Z2drs 0% 12 & (E-mail&Z X}
41 | ofA 0% T ENEAHZ A ALE)H Lo/ /A

1/2




R GE o=
42 'V SA/IIE EF
43 RA{ AHED HEE HE 80% AtE 0 =401H
44 CHEE MEAM 0% EWNE OfFHZ7|X oA Y 12/16(8)
45 = ARE{RS 100% 1755 159 ghaolz /185 16 2H40|H
47 | FAREE| 30%
48 PPN 30% M2 A (12811 us2Ag) / S2¢4E ZHAIHES
49 gtats|of 0% 12¢ 62 3)0| 2t2 / C+239|ol& 128 20Y
50 SKLHE 0% ota
51 Mooz 100% HZ HX| o /330 &R
52 0% Mgy 15 o8
53V S$IAME N
4 E29d 13% =, 2MX| SH
55 A %S 0% 2, 2N SN F 2/ 7Y EAES o™ (tASEHH HE)
56 3 =0| 50% 31 et (A E MAole 2t 2) &7t g ol )15 (L {2
57 LS At EX| HolT| 0% 15¢ ottt Ate|EX| 2oz 2%3:00 tHEtH FhA
58 0% 19¢ ot sF0IMY Y| REEEH &4 ofF
59 30% A/AHAY 10EHA XE2 (G Y B HE 7[F:3|QAtR) ThE e &
60 0% 2t U:0|H= / +2Y:0|2X},0|22 / = 2U:HEY
61 0% X
62 0% LR
63 M He| &Y 0% 7|E SAXL SAF 272 QIS CHE SAHAL S Ml 0F BH(H 7] SAHAL)
64 MO A=K 2H He| 0% MIW= AKX Mo Fe| QfEe
65 0% ESUARSR AR TA| EF
66 0% 23 AHA IR 2ol (AR ULALH SN AF et
67 |t BT 3] 0% EWAAZIY (A EAM/SMX|HTHLSTHET] A ZHEA £9|)
68 0% SAE X YA D E S E(EREH/AIZE T4 0|=H)

- O

22




